BEEEL

4 RH

ERHEEaEYRARKECSRNETME > EREE -
18 O R AR AR R BT R 0 (AR T A0 Y B R B 5T o o R RS AT >

5 50 53 5 BR L

ROTATING HYDRAULIC CYLINDER

A A MR EA
/ t[-r ‘ The rotary valve and cylinder body, all made of special light alloy,

k - light-weight.

IE' ‘ﬂ Through unique design, the rotary valve enables the inside bearing
| f LY to get sufficient lubricating and cooling and endure high-speed rotary
| "‘*- for longer service life.

BAMIREHLEEEE G EE AR EETE.
¥ The drain port should be independently connected to oil tank to avoid
back pressure.
i
y
.f/
/% A E;Dr
_Ir____-lll__ l_‘ E _ L \ _ )
|II ‘-.\ “y: © /
e 3 i j
\\\ I RC1/4 30 15 \45 1T
N i ‘\
S % 3% 3L, Drain port e L |
44 3 31, Pressure port 6
- B 102 H LG
J
REREENNER
Subject to technical changes.

\ i Spec. | #E@H Efi.pistonarea om? fmm | &EERK min'(rp.m)| &EHFES MPa I kgm'| EF kg
A Model #8 Extend 54l Retract | Piston stroke Max. speed Max. pressure kgiien) | Moment of inertia Weight
RH-65 31.0 279 . o 0.01 2.9
RH-80 47.7 428 3.5(35) 0.01 34
RH-100 754 70.5 20 0.04 4.9
RH-100K 68.4 Zid 4.0(40) 5.1
RH-125 ii5e 1125 o 3.5(35) o6 6.8
RH-125K ‘ 110.0 ' 7.1
RH-150 173.6 157.7 30 4000 4.0(40) 0.18 115
RH-200 310.0 286.3 35 0.38 20.4
+# Size E M

\— A B |C D F H J K L N P
& 4% Model h7 max.| min. H8
::jg 65 5 | 98 | 80 | 60 | 22 20 | 72 | 475 [MI2X175x30 | o o

80 12 | 90 | 65
RH-100 25 | 45 M16x2.0x30

T 100 | 20 | 135 | 100 | 80 89 | 190 6~M10x20 | - 4
RH'1 e 30 M20x2.5x35 e

=% | 125 | 25 | 160 50 | 2 | o6 | 107 6~M12x20
RH-125K 130 | 110 | 35 M24x3.0x44
RH-150 150 | 30 | 190 45 | 55 105 | 206 | M30x3.5x45 | 12~M12x24 | 31 &
RH-200 200 | 35 | 245 | 145 | 120 | 55 | 70 | 35 | 130 | 231 | M36x4.0x60 | 12~M16x30 | 37

RC1/2 ’



